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Geometric Series

Standard:
9-12.A.SSE.4: Derive the formula for the sum of a finite geometric
series (when the common ratio is not 1), and use the formula

to solve problems.

What am | learning today?

How to evaluate a geometric series in sigma
notation

How will | show that | learned it?

Expand a series from sigma notation and
evaluate it.
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Day 2

Finite Geometric Series

Formula for the Sum of a Finite
Geometric Series

where...

1—7r"

l—r

n = # of terms

S =aq,

a; = 1stterm

r = common ratio

In word problems, if they mention the word
or you are finding the sum!
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Example:

1a) Find the sum of the first 8 terms of the geometric

series: 2-6+18-54.+|62.- YRL+145B
=-3230 — 4334
Sg=2 (1=£3))=-3280
ER)

|—(-

1b) Write the series in sigma notation.

Sy
\=|

10
2) Find the sum of the geometric series! 3(2)i—1

a) by hand =

o=3@ =3 I
H+4R3+ + 3
2’:_6%8‘02‘2 BT 1530

b) by using the formul

%‘023(“ :2; = 30 A
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Q 2 .‘_3\ 1"'34_ 329 _ 4(03

2-3Arz- Y g =7 - 5’2_.
b) by using the formula ’:’ -8'1‘03:*5
S,fZ(l—(-%r _Z.(l+1'ff
-C2\ ) S
3\ > >
23
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http://my.hrw.com/math11/math06_07/nsmedia/lesson_videos/alg2/player.html|?
contentSrc=7233/7233.xml
®

Real World Application: Adapted from Advanced Algebra
Georgia (HOLT p. 162)

Real Estate: A 6-year lease states that the annual rent
for an office space is $84,000 the first year and will
increase by 8% each additional year of the lease. \What
is the rent in the 6th year? What will the total rent
expense be for the 6-year lease?

n = # of years of the lease

a, = amount of rent paid in the nth year

r = 100% of current rent and 8% increase
so0 100% + 8% or 1.08

so the sequence rule is a, = 8‘*@(' O&

What is the rent in 6 years?

a., =84000(1.08)"
=$ 123423 .::e
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What will the TOTAL rent expense be for the 6-year lease?

Se= 84000 1= ‘&%)

=36l6,218.0H

Homework:

Pg. 163-164
# 28, 29 -47 odd
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You are currently 25 years old. You are going to
retire at65 yearsold. Y\ = 40O

A. If you start saving $1000 a year and the
interest rate is 5%, how much willoyou have?
. = lOOO(l— [.OS )__s (2070
1o -1.05 '
B. If you save $1000 and the interest rate is 6%,
how much will you have?

D= looo( t \—-li%ﬁ _ g3

C. If you save $3000 and the interest rate is 6%,
how much will you have?
= 2000 |-1.06% ): 34,4285
40 |- 1.06
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